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LISTENING COMPREHENSION(40 MIN.) In Section A, B and C

you will hear everything ONLY ONCE. Listen carefully and then

answer the questions that follow. Mark the correct response to each

question on the Colored Answer Sheet. SECTION A TALK

Question 1 to 5 refer to the talk in this section. At the end of the talk

you will be given 15 seconds to answer each of the following five

questions. Now listen to the talk. 1. What is the percentage that the

Mediterranean has of the world’s sea surface? A. 1.5% B. 1% C. 2%

D. 3% 正确答案是 2. Which parts of the Mediterranean are the

worst? A. The coast between Barcelona and Greek. B. The

Tyrrhenrian Sea between Sardinia, Sicily and the West Italian coast.

C. The Israeli/Lebanon coast. D. Cannes and Tel Aviv. 正确答案是

3. According to the speaker, the dirtiest rivers are ____ A. the

Llobregat in Spain. B. the Adige and the Tiber in Italy. C. the Nile. D.

the Po and the Phone. 正确答案是 4. In the next twenty years, the

number of holiday-makers is expected to be ____ A. 100 million. B.

150 million. C. 200 million. D. 300 million. 正确答案是 5. The

purpose of the article is ____ A. to warn that the pollution of the

Mediterranean is hardly inevitable. B. to provide specific information

about the pollution of the Mediterranean. C. to warn holiday-makers

of the risks they will run if they tour the Mediterranean shores. D. to

show that the Mediterranean has become another dead sea. 正确答



案是 SECTION B INTERVIEW Question 6 to 10 are based on an

interview. At the end of the interview you will be given 15 seconds to

answer each of the following question. Now listen to the interview. 6.

Who are the speakers? A. Salesmen. B. Editors. C. Cooks. D.

Advertising agents. 正确答案是 7. What products are they talking

about? A. Kitchen. B. Deep-freezer. C. Mobility units. D. Cake

mixer. 正确答案是 8. What is the relationship between the two

speakers? A. Employer and employee. B. Salesman and customer. C.

Advertiser and customer. D. Colleagues. 正确答案是 9. How is the

kitchen different from all other kitchens on the market? A. It is easier

to clean and repair. B. It is non-fixed and flexible. C. All its units are

of the same height. D. Its chopping board is nearer to the sink. 正确

答案是 10. What can you infer from the conversation? A. Terry

knows less about kitchen than Joyce. B. Joyce knows more about

kitchen than Terry. C. Terry knows more about kitchen than Joyce.

D. Terry knows as much about the kitchen as Joyce. 正确答案是
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